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MATH
Liquid Equivalents
8 fluid ounces (fl.oz.) = 1 cup (c.)
2 cups (c.) =1 pint (pt.)
2 pints (pt.) = 1 quart (qt.)
4 quarts (gt.) = 1 gallon (gal.)
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MATH
Linear Equivalents
2.54 centimeters (cm) =1 inch (in.)
12 inches (in.) = 1 foot (ft.)
5,280 feet (ft.) = 1 mile (mi.)
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Metric Measurements

10 millimeters (mm.) =
1 centimeter (cm.)
100 centimeter (cm.) =
1 meter (m.)
1000 meters (m.) =
1 kilometers (km)
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The area of a
rectangle equals

length times width.
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The Associative Law
for addition:

(a+b)+c=a+(b+c)

The Associative Law
for multiplication:

(axb) x c=a x (bxc)
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The circumference
of a circle equals

two times pi (3.14)

times the radius.
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